Qunftipud N 6
GnbwG punwph wjuqubne
2016 pywywGh utiupntiiptiph 13-h
N 585 - b npnpswG

GLAGUULh UdUGULNAER 2015 @4UUULD HA6USEURGLR 23-h N 435-L NAATCUTL N 6 UMGLIUONRU GUSULY NN,

onenvNrEe3NrFLLELR
(hwqup npuudGhpny)
> wyn pymd’ (wjbpugnidGhpn Gpguwo LG
% a | e PAmeotnwjhG dSwuubknh qnpownmiw quumupgqiwb = gl Grwlny, pul GuqbgnidGhpp
2 €|%| 3| pwudhallph, fuiptnh L guubph, hGzuybu Gwl pmebwwht | o Canuthen shwljuqotpnud)
& cBL E ¢ | owhuubph mGwmtivwghnmwlw nwuwlwpgiwb hnpjwdGhph =2
wiiwGniGbpg g Jupgwlw pymst | $nlnuhl pymgt
1 [2[3]4 5 6 7 8 9
CLAUUGLLE UL UG (623,612.1) (3,203,526.1) 2,510,914.0
LU ULAR ALARBEDR {TULAUSRL
2100(01)1 0] O 11,389.6 11,389.6 -
OUNUBNMO3NFLLED
wjn pynud’
OptiGunfip L qupownhp dwpdhl6p, whinwlpwG Jununjupn,
2110| 01| 1 | O |phbwluwlpui L huplwpimtanwhG hwpwpbpnipniGGhn, 11,426.9 11,426.9 -
wpunmuwphl hupupbpnipiniGGhap
nphg’
2111{ 01 1 [ 1 [OpkGunhp L gnpdwnhp dwpdhGGbp,wnwlul junwjupno 11,426.9 11,426.9 -
wjn pynud’
1. Yupwjwnywl dwpdGh wwhupw Gng 11,426.9 11,426.9 -
Quwh dwnwympymGGtp 4214 12,000.0 12,000.0 -
-Uj1 owfuutip 4861 (573.1) (573.1) -
2130| 01| 3 | O |Llphwlnip plmjph dwnwympinGGhn (37.3) (37.3) -
nphg’
213301l 3 | 1 Uyluwmwuquh /qunnbph/ qony pnhwGnip pogyph (37.3) (37.3) )
ownwnipniGGtp
wyn pynd |
1. Lunwpwghwlwl Jugmpjuwl wilmnk wlguwl
ownwmpwl gnpom GEmpyul juqlwybpumg (37.3) (37.3) -
wunhpwlpjwé jhugnpnipni GGk
-UptuwwmnnnGhph wyutwwmwywpdbp b hwybpudwplbp 4111 (13.5) (13.5) -
-EGtpgtnhy ownwjynipjniGhtp 4212 (2.9) (2.9) -
-Jwpywiwl ownwympynGGtp 4231 (4.5) (4.5) -
-UtiptGwGtiph b vwppwynpnuiGtiph ppuwghly Gnpngnid 4252 (9.0) (9.0) )
wwhww lnd
-Qpuubljuluyhl Gmptp L hwgniun 4261 (7.4) (7.4) -
24001041 01| 0 SLSEUULUUL LULULGLNRME3NFLLEL (318,744.8) (318,744.8) -
wyn pynud’
2450\ 04| 5 | O (Spwluwynpun (318,744.8) (318,744.8) -
nphg’
2451 04| 5 | 1 [GwGwuwwphwjhlG npwGuynpun 47,000.0 47,000.0 -
wyn pynu’
10. QyunnlujwGunbnh juqiwlbpydw b owpwnipin G 47,000.0 47,000.0 -
-Uj1 dwjuubip 4861 47,000.0 47,000.0 -
2455/ 04| 5 | 5 [fonpnjuywywpuyhG b w)p wpuwGuunpu (365,744.8) (365,744.8) -
wyn pynui’
2. bplwGh danpnunihinblh wyluunnwlpGbph uqiwibpunid
wuhpwlwé jhugnpnipmi GGk (19,503.9) (19,503.9) )
-UnipuhnhwGbp ny hGwbuuub whnwyuw (hwdw)Gpujhb) )
Ywquulypugnepm GGbEhG 4511 (19,503.9) (19,503.9)
3. dbpghwnGyw biblpnpuwnpw Guunmnm] ninlopunhofuwnpdu )
PO (6,240.9) (6,240.9)
-Unipuhnhwbp ng $hGwbGuuul yhnmwuw (hwdw)ipuwjha) )
gl GGkphG 4511 (6,240.9) (6,240.9)
3. G wlpul Gk 1wl pullih wowlgnipju
wlwGu LwiGh swmpnuynihnbih JepulupmgdwG (100,000.0), (100,000.0), -
&b w wwnhpwljwé jhwqnpnipim 66
-Uj1 dwfuubip 4861 (100,000.0) (100,000.0) -




wyn pymd’ (wjbpuugnidGhpn Gpjuwo LG

z
% a | e RymotnwjhG dwjuubph qnpownwljwl npwuwljupgiw = ppwlw( Gowlny, ul GjuqbgnuGhpp
£|%5| 3| pwudhallph, fuiptnh L guubph, hGzubu Gwl pmebwwht | o Lanuttn )
E cBL E ¢ | owluutph mGwmtivwghmww nwuwlwpgiwl hnpywdGtph =2
Wi GnuiGhpg g Jupswlw poigt | $nGnuihG ppoigt
6. Gi wlwl shnipju hwplwGmpjub GG rduihi
(i1 wowlgmpuil wljwGw Ll
dhunpnynhnbGh JEpulwpnigdwG & wnfw g GnphupG (240,000.0) (240,000.0) i
w wunhpwywo thwgnpmpim GGk,
-Uj1 dwjuubip 4861 (240,000.0) (240,000.0) -
2500(05|1 0| O CrRUUU Uh2UUU3Lh NUTSNMULNRO-3NRL 112,512.3 112,512.3 -
wyn pynud’
2510/ 05| 1 | 0 |Unpwhwlnif 112,512.3 112,512.3 -
nphg”
2511| 05| 1 | 1 [Unpwhwlnid 112,512.3 112,512.3 -
wjy pynuf’
3. Ybpwlpwnmguwl L qupqugiwl ypnwwlpwG puGhh
wowlgnipju] wljmliuw «Gpluulih §nywm puwihnlGh; 1125123 112512.3 }
Gquinunjupdwl opwghp» npuwdwpGnphuiihl dpuighp
winhpwilpfwd jhugnpnipini GGG,
-Uj dwjuubip 4861 112,512.3 112,512.3 -
ALULULTLUSRL ThLULULNREBNML GUL
2600(06| 0| O 25,002.6 2,660,916.6 2,635,914.0
uNUNrFLUL 5UNU3NME-3NFL ( ) ( )
wyn pynid’
2630/ 06| 3 | 0 |Lpwdwwnwlpupupnid - (2,659,914.0) 2,659,914.0
nphg’
2631 06| 3 | 1 |2pwiwwnwlwpwpnud - (2,659,914.0) 2,659,914.0
wyn pynd’
1. dpulupugh wlpuwwybnmpul junwyjupmpul
wowljgmpuiy] wlwGuw Luwl wdwmw junundul
L gpuwhbnwguwl dpwgphl wnpudi whfuGhljwljwG ) (2,659,914.0) 2,659,914.0
wowligmpul opuw wunyhpwlpuwo jhwgnpnipini GGG,
-Uj1 dwjuubip 4861 (2,659,914.0) (2,659,914.0) -
- Chlptiph L phGnipymGGEph Junnignid 5112 2,069,310.5 - 2,069,310.5
- Chiliptiph L 2hGnipyniGGtph uuyhumwy Yepuwlnpngnud 5113 590,603.5 - 590,603.5
2640| 06| 4 | 0 |Pnnnglbph pmuurnpmy (1,002.6) (1,002.6) -
nphg”
2641 06| 4 | 1 |®nnngGhph (nuwynpnud (1,002.6) (1,002.6) -
wyn pynud’
2. Umnwphl niuwynpnipjul guiligh whwqgnpodwé b
wwhuyw 6w wylyunnwGpGhn (37,085.3) (37,085.3) )
-UnipuhnhwGbp ng-phwluuyul yhmwub (hwdw)ipwjhG) )
gl GGERRG 4511 (37,085.3) (37,085.3)
3. dbpujwnmguwl Lk qupgugiwl bypnuwlwl pwGih
wowljgmpyuiy] wlwGu «Gpluud wpwhl 36.082.7 36.082.7 )
muun/npnipjul opwghp» ppurdwy GnphwjhG opuw
wunhpwlpwo jhwgnpnipini GGG,
-Uj1 dwfuutip 4861 36,082.7 36,082.7 -
ARlwlpwpuwGuyhl phGwpuwpmpyul U §nudm Guy )
2660( 06| 6 | O owinump GGy (wy nubpht syl o) (24,000.0) (24,000.0)
nphg”
2661l 06| 6 | 1 Plwywnwlwjhb phGwpwpnipjwl L YniniGuwy SwnwynipjniGGtp (24,000.0) ) (24,000.0)
(wj) nuubiph( sywwnjwlnng)
wyjn pynuf’
4. Buquwpwlwnpw 2bGph wpbjwpowl w
T (24,000.0) - (24,000.0)
- Chliptiph L phGnipymGGLph uwhwuwwy yepwinpngnud 5113 (24,000.0) - (24,000.0)
2700(07)1 0| O UNN2UNULNME3NFL 10,000.0 10,000.0 -
wyn pynud’
2760| 07| 6 | 0 |Unnngwujwhnipym@ (uj; nuubphl sujunnlutng) 10,000.0 10,000.0 -
nphg
2761| 07| 6 | 1 |Unnnowwwhwlwl hwpwlhg dwnwjnipjniGltp L opwgptp 10,000.0 10,000.0 -

wyn pynud’




wyn pymd’ (wjbpuugnidGhpn Gpjuwo LG

z
% a | e RymotnwjhG dwjuubph qnpownwljwl npwuwljupgiw Z ppwlw( Gowlny, ul GjuqbgnuGhpp
£ 2 5 pwdhGGtph, fudptph L nwubph, hGswbu Gl pymetmwhG ) Chnwitn Jruluqotpnid)
E cBL E ¢ | owluutph mGwmtivwghmww nwuwlwpgiwl hnpywdGtph %
Wi Gndbpg G duipswuil pymet | $nbnuwhG pymgt
3. Upwgnipini G wnnnowwwhwlwl juqiwlbpuynipnG6tphG 10,000.0 10,000.0 -
-ULhpwunynipyniGGbp wyp pwhnyp shtimww Gnnn )
gl g p ) GEEG 4819 10,000.0 10,000.0
2800108| 0| 0 {ULAhUS, UCTUUNR3@ G4 urnu (1,005.2) (1,005.2) -
wyn pynid’
2820( 08| 2 | O |Uzwlnipuyhl ownwynipjniGGap (1,005.2) (1,005.2) -
nphg’
2821| 08| 2 | 2 |Pwlqupwbltp L gngwupwhtp (281.0) (281.0) -
wyjn pynud’
1. Pwlqupubwihl ownwmipmbGhn L gmgwhwlnbubbp (281.0) (281.0) -
-UnipupnhwGlp ng-phGwGuwyul ytnwlwub (hwdw)ipwjhG) )
uqEulbpunip i Gakpht 4511 (281.0) (281.0)
282408 2 | 4 |Uj dwympwjh YuqiwlbipynipmGGp (464.5) (464.5) -
wyn pynd’
2. YbhGnuwpwlwlul wiqni gni 1o GGk (464.5) (464.5) -
-UnipupnhwGlp ng-phGwGuuub ytnwlwb (hwiw)ipwjhG) )
gl bpunip i Gabpht 4511 (464.5) (464.5)
2825/ 08| 2 | 5 [Upybtuwn (259.7) (259.7) -
wyn pynid’
2. Pwwmbpuwlwl GhpluwjugnidGbp (259.7) (259.7) -
-UnipuhnhwGbp ng-phGwbuuyub yhnmwlwb (hwdw)ipwihG) )
S 4511 (259.7) (259.7)
2900109| 0| O Y,rENrE-3NML (239,270.1) (114,270.1) (125,000.0)
wyn pynud’
2010{ 09| 1 | o |Veuwnpnguiul L wnuippwywl plghulGnin Yppipynid (110,148.6) (85,148.6) (25,000.0)
nphg’
291109 1 [ 1 [Lwluiwnypnguyw Yppnipjnil (25,000.0) - (25,000.0)
wyn pynid
2. bwlnunupngquwl nmungduil juqiwlbpydw G hudwp
wiihpudliyw gm ph dtnpphpnid (25,000.0) (25,000.0)
-Uj dbiptGuGbp L vwppuwynpnidGbin 5129 (25,000.0) - (25,000.0)
2011| 09| 1 | 2 |Swrnwyw( plnhwlnp Yppnipym (yuinyhpuilfwd (85,148.6) (85,148.6) -
ThwgnpnipniGGtip)
wyn pynud’
1. Qwlpwppwlwl niunigniy (75,104.8) (75,104.8) -
-UnipuhnhwGbp ng-phwGuuyul yhmwu (hwdw)ipwjhG) )
Jugdlbiunpm GGbah 4511 (75,104.8) (75,104.8)
2. wnnnt nipnt G (10,043.8) (10,043.8) -
-UnipuhnhwGbp ng-phwGuuyul yhmwub (hwdw)ipw)ihG) )
wquuljbpunipm GGLahG 4511 (10,043.8) (10,043.8)
2920| 09| 2 | 0 |Uhglwlwpg pGnhwlmp Ynpmpjm b (29,121.5) (29,121.5) -
nphg’
2021l 09| 2 | 1 <{hiGwywi pnhwlnp YppmpyniG (wuumyghpuyguo (26,082.5) (26,082.5) )
JhwgnpnipniGGp)
wyjn pynud’
1. Qwhpwhppwlwl munignif (4,833.4) (4,833.4) -
-UnipuhnhwGbp ng-phwluuyul yhmwuwb (hwdw)ipwjhG) )
Wwquuljbpunipim GGLahG 4511 (4,833.4) (4,833.4)
2. {unnm nipnt G (4,150.7) (4,150.7) -
-UnipuhnhwGbp ng-phGwbuuyub yhnmwywb (hwdw)ipwjihG) )
YuqEulbpunipnt GGkphG 4511 (4,150.7) (4,150.7)
3. Lbpwnwlwl §ppoipyma (17,082.5) (17,082.5) -
-UnipupnhwGbp ng-phGwluwyub ytnwwb (hwiw)ipwjht) )
LuqEulbpunipntGGkpht 4511 (17,082.5) (17,082.5)
4. Gpbynjub Yppomipin G (15.9) (15.9) -
-UnipupnhwGlp ng-phGwGuwub ytnwlwb (hwiw)ipwjhG) )
gl bpunep i GGbpht 4511 (15.9) (15.9)
2922| 0a| 2 | 2 |Uhelwlbwng(nhy) pGnhwbnip Yppnipjnil (wwnghpuyyws (3,039.0) (3,039.0) 3
thwgnpnipniGGtp)
wyn pynud’




wyn pymd’ (wjbpuugnidGhpn Gpjuwo LG

=z
% a | e RymotnwjhG dwjuubph qnpownwljwl npwuwljupgiw = ppwlw( Gowlny, ul GjuqbgnuGhpp
£ 2 5 pwdhGGtph, fudptph L nwubph, hGswbu Gl pymetmwhG ) Chnwitn Jruluqotpnid)
E cBL E ¢ | owluutph mGwmtivwghmww nwuwlwpgiwl hnpywdGtph 5-
wljwimiGhpp g JupswlwG pymet | $nGnujhl pjnigh
1. Qwipwlhppwlwl munignif (3,039.0) (3,039.0) -
-UnipuhnhwGbp ng-phGuwbuuyub yhmwyub (hwdw)ipwihG) )
P ", 4511 (3,039.0) (3,039.0)
2950| 09| 5 | 0 |Luwn vwhwpnuybbph snuwuwlwngynn YppnipiniG (80,000.0) - (80,000.0)
nphg’
2951| 09| 5 | 1 [Upnwnypngwluwl nuunhwpwlnipjnil (80,000.0) - (80,000.0)
wyjn pynui’
2. Uminw wlwl quqiwlbpnunipiniGGtph hhdGwln 1)
& nustin " (80,000.0) - (80,000.0)
- Chlptiph L phGnipymGGLph Yuuwhuwy Yyepwnpngnud 5113 (80,000.0) - (80,000.0)
2960l 09| 6 | o Unpmpyulip mpudunming odwlinul ownuympniGGhp (20,000.0) . (20,000.0)
nphg’
2961| 09| 6 | 1 |uppmpjwlp mpwdwnminn odwlinuly dwnwjnipjniGltn (20,000.0) - (20,000.0)
wyn pynud’
1. Vwnunypngulul hwunwnnipini 6G66ph hhdGwGnpngniy L ~
yJbpuiGnpngnud (20,000.0) (20,000.0)
- Chiliptiph L 2pGnipyniGGtph uwhumwy yepwinpngnud 5113 (20,000.0) - (20,000.0)
3000/ 10( 0 O UnNsShuLUuYUL NUCSNULAME3NRL (60,625.6) (60,625.6) -
wyn pynud’
3090] 10] 9 | o Unghwjwljwl wwywmupwGnipn G (wj] nuubphG supunmnlwGnng) (60,625.6) (60,625.6) )
nphg’
3091| 10| 9 | 1 |Unghwjwlw( wwywuwlnipjnil (wy puubphl sywnfwlng) (145.6) (145.6) -
wyn pynud’
1, Unghwjwlju@ ogGnipju@ dwnwnipimGGbnh
om Gimp G Juquwbpuynd (wuwuppuljuo (145.6) (145.6) -
[hwqnpipym GGLp)
Quwh dwnwympymGGtp 4214 (12.8) (12.8) -
-UtiptiGwGtiph b vwppwynpnuiGtiph ppwghly Gnpngnid 4252 (70.8) (70.8) )
wwhww lnd
-Qpuubljuluyhl Gmpbp W hwgniun 4261 (34.8) (34.8) -
UhGgunuwjhG W hwGpwjhG uGGnh Gynipbp 4267 (27.2) (27.2) -
Unghwjuul yuwpnwwlinpjulp mpudwnpynn odwlnuy )
30921101 92 dwnwympniGGtn (wy nuubphl sywwulwing) (60,480.0) (60,480.0)
wyn pynud’
1, MbmwlpuG hhdGwnyGhph b juquuwybpympini6GGph
wyuwmnnnGbph unghwjwwl thwpbpny wupwhnynid (60,480.0) (60,480.0) -
unnyhpwlpfwd (hugnpnipyni GGG,
-Uj1 GuyuwuwnGbp pjnigtihg 4729 (60,480.0) (60,480.0) -
ZhULULUUL AUFDEULULELRL Q9.0 UUNA.
3100/ 11( 0 O 112,865.7 181,865.7 -
MULNFUSUBHRL DNLAGL ( ) ( )
wyn pynid’
a110l11] 1 | o << quwnunjupmpyuG L huduyyGpGhph vpwhniunwhG $nlin (112,865.7) (181,865.7) i
nphg’
3112( 11| 1 | 2 (X< hwiw)GpGlph wwhniunwyhG $nln (112,865.7) (181,865.7) -
wyn pynid’
-MuwhniuunuwjhG ShonglGhp 4891 (112,865.7) (112,865.7) -
<wwnlugmy ywhnwwmwjhl $nlnhg $nlnwjhl pjngk X - (69,000.0) -




